
   Seat No. :  _______________ 
  

TN-110 
M.Com. Sem.-III 

May-2013 

501 : Investment Management 
 

Time :  3 Hours]  [Max. Marks : 70 
 

 
ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 
 

1. (…) ÁõÛéïõÛ¨ÛÛé¶ÛÛ Š°éùÉÛÛé ›÷¨ÛÛÈÛÛé.  7 

     …¬ÛÈÛÛ 

  Ü¼Û¶Û ÈÛé˜ÛÈÛÛ¸ÛÛªÛ ¶ÛÛ¨ÛÛïõàýÛ Ü¾ÛÅÛïõ©ÛÛé ÍÛ¾Û›ÛÈÛÛé.  

 (¼Û) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé  : 4 

  (1) ÁõÛéïõÛ¨Û¶Ûà ¸ÛóÜ’õýÛÛ ÍÛ¾Û›ÛÈÛÛé.  
  (2) ÉÛéÁõ ¼Û›ÛÁõ¶ÛÛ ïõÛýÛÛë ÍÛ¾Û›ÛÈÛÛé.  
  (3) ÁõÛéïõÛ¨Û …¶Ûé ÍÛaøÛ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé.  

 (ïõ) …éïõ ïéõ ¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé : 3 

  (1) ¸ÛÛé¤ÙøºõÛéÜÅÛýÛÛé ÍÛ×˜ÛÛÅÛ¶Û  

  (2) ›Û¾Ûà¶Û•ÛàÁõà ÜÈÛÊÅÛéÌÛ¨Û 

  (3) ÁõÛéïõÛ¨Û¶ÛÛ ÜÈÛïõÅ¸ÛÛé  

 

2. (…) Áéõ¶¦ø¾Û ÈÛÛéïõ¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 7 

     …¬ÛÈÛÛ  

  ïõÛýÛÙ“Û¾Û ¼Û›ÛÁõ ¸ÛÜÁõïõÅ¸Û¶ÛÛ (EMH) ¶ÛÛ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõÛé ÈÛ¨ÛÙÈÛÛé.  

 (¼Û) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé : 4 

  (1) ¼ÛÛé¶¦ÕøÍÛ¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û …¶Ûé ÈÛÇ©ÛÁõ  
  (2) ¹ýÛä˜ÛÁõ ïõÁõÛÁõ  
  (3) ºõÛéÁõÈÛ¦Ùø ïõÁõÛÁõ  

 (ïõ) …éïõ ïéõ ¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé : 3 

  (1) Ðéü›÷ •Ûä¨ÛÛé«ÛÁõ 
  (2) ÍÈÛé¸ÍÛÕ 
  (3) Š²Ûé•Û ÜÈÛÊÅÛéÌÛ¨Û 
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3. (…) ¸ÛÛé¤ÙøºõÛéÜÅÛýÛÛé¶ÛÛ ïõÛ¾Û•ÛàÁõà ¾ÛæÅýÛÛ×ïõ¶Û¶ÛÛ ¸Û•ÛÅÛÛ×…Ûé ÍÛ¾Û›ÛÈÛÛé.  7 

     …¬ÛÈÛÛ  

  ¸ÛÛé¤ÙøºõÛéÜÅÛýÛÛé¶ÛÛ ›Ûé”Û¾Û¶Ûä× ¸ÛÜÁõÈÛ©ÛÙ¶Û  

 (¼Û) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé : 4 

  (1) ÝÍÛ•ÛÅÛ ˆ¶¦éø“Û ¾ÛÛé¦éøÅÛ 

  (2) ¾ÛÛïõÛëÜÈÛ¤Õø¡ö¶Ûä× ¾ÛÛé¦éøÅÛ  

  (3) ÉÛÛ¸Ûë¶Ûä× ¾ÛÛé¦éøÅÛ  

 (ïõ) …éïõ ïéõ ¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé : 3 

  (1) ¸ÛÛé¤ÙøºõÛéÜÅÛýÛÛé¶ÛÛ ›Ûé”Û¾Û …¶Ûé ÈÛÇ©ÛÁõ¶Ûä× ÜÈÛÊÅÛéÌÛ¨Û 

  (2) ›Û¾Ûà¶Û•ÛàÁõà ¼Û›ÛÁõ¶ÛÛé …ÐéüÈÛÛÅÛ  

  (3) ¸ÛÛé¤ÙøºõÛéÜÅÛýÛÛé ¸ÛÜÁõÈÛ©ÛÙ¶Û  

 
4. (…) ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û¶Ûà Ýïõ¾Û©ÛÛé •Û¨ÛÛé : 7 

  ›Ûé”Û¾Û ¾Ûäî©Û ÈÛÇ©ÛÁõ (RF) 18% 

  …¸ÛéÜ“Û©Û ¼Û›ÛÁõ ÈÛÇ©ÛÁõ (RM) 22% 

  ¼Ûà¤øÛ (β1)  1.2 

  ›Ûé ÁõÛéïõÛ¨ÛïõÛÁõ ¼Ûà¤øÛ (β1) 1.8 µÛÛÁéõ ©ÛÛé …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¾ÛÛ× ÉÛÛé ºéõÁõ ¸Û¦éø ©Ûé ¸Û¨Û ›÷¨ÛÛÈÛÛé. 

…¬ÛÈÛÛ  

  …ÛÜ¼ÛÙ¤Öéø›÷ Ýïõ¾Û©Û¶Ûà ¬ÛàýÛÁõà (APT) ¾ÛÛ× …éïõ ¸ÛÜÁõ¼ÛÇ ¾ÛÛé¦éøÅÛ …¶Ûé ¼ÛÐäüÜÈÛµÛ ¸ÛÜÁõ¼ÛÇ ¾ÛÛé¦éøÅÛ 

ÍÛ¾Û›ÛÈÛÛé.  

 (¼Û) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé : 4 

  (1) ¾Ûæ¦øà ¼Û›ÛÁõ¶Ûà Áéõ”ÛÛ (CML) 

  (2) ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û Ýïõ¾Û©Û ¾ÛÛé¦éøÅÛ (CAPM) ¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  

  (3) ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û Ýïõ¾Û©Û ¾ÛÛé¦éøÅÛ (CAPM)¶Ûà µÛÛÁõ¨ÛÛ…Ûé ›÷¨ÛÛÈÛÛé.  

 (ïõ) …éïõ ïéõ ¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé : 3 

  (1) ›Û¾Ûà¶Û•ÛàÁõà ¼Û›ÛÁõ¶Ûà Áéõ”ÛÛ (SML) 

  (2) …ÛÜ¼ÛÙ¤Öéø›÷ Ýïõ¾Û©Û¶ÛÛé ÜÍÛ±ùÛ×©Û  

  (3) ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û Ýïõ¾Û©Û ¾ÛÛé¦éøÅÛ (CAPM)¶Ûà ¬ÛàýÛÁõà¶Ûä× ÍÛæªÛ ÅÛ”ÛÛé.  
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5. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸Ûé¤øÛ ¸ÛóÊ¶ÛÛé¾ÛÛ× …éïõ ïõÁõ©ÛÛ× ÈÛµÛä ÜÈÛïõÅ¸ÛÛé …Û¸ÛéÅÛÛ ™öé. ©Ûé¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛ ÜÈÛïõÅ¸Û¶Ûà ¸ÛÍÛ×þù•Ûà 

ïõÁõÛé :     14 

 (1) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ Ü¼Û¶ÛÈÛé˜ÛÈÛÛ¸ÛÛªÛ ›Û¾Ûà¶Û•ÛàÁõà ¶Û¬Ûà ?  

  (a) ¼Ûêïõ¾ÛÛ× ¾ÛæïéõÅÛà ¬ÛÛ¸Û¨Û  

  (b) ï×õ¸Û¶Ûà¾ÛÛ× ¾ÛæïéõÅÛà ¬ÛÛ¸Û¨Û  

  (c) ¸ÛÛéÍ¤ø …ÛéÜºõÍÛ ÍÛÜ¤ÙøÜºõïéõ¤ø  

  (d) ÍÛÁõïõÛÁõà ›Û¾Ûà¶Û•ÛàÁõà  

 (2) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ÈÛé˜ÛÈÛÛ¸ÛÛªÛ ›Û¾Ûà¶Û•ÛàÁõà ™öé ?  

  (a) ¼Ûêïõ Ü¦ø¸ÛÛé¡àö¤ø (b) ¼Ûêïõ¶Ûà ÅÛÛé¶Û 

  (c) ¾ýÛä˜ýÛä…ÅÛ º×õ¦ø  (d) ï×õ¸Û¶Ûà¾ÛÛ× ¾ÛæïéõÅÛà Ü¦ø¸ÛÛé¡à¤ø  

 (3) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ïõÛýÛÙ ÍÛé¼Ûà (SEBI) ¶Ûä× ïõÛýÛÙ ¶Û¬Ûà ?  

  (a) Í¤øÛéïõ ¾ÛÛïëõ¤ø ¸ÛÁõ Ü¶ÛýÛ¾Û¶Û …¶Ûé …×ïäõÉÛ ÁõÛ”ÛÈÛÛé.  

  (b) ÉÛéÁõ ¼Û›ÛÁõ¾ÛÛ× ›Û¾Ûà¶Û•ÛàÁõà¶Ûà ÅÛé-ÈÛé˜Û ïõÁõÈÛà.  

  (c) ÉÛéÁõ ¼Û›ÛÁõ¶ÛÛé ýÛÛé•ýÛ ÜþùÉÛÛ¾ÛÛ× ÜÈÛïõÛÍÛ ïõÁõÈÛÛé.  

  (d) ÁõÛéïõÛ¨ÛïõÛÁõÛé¶ÛÛ ÜÐü©Û¶Ûä× Áõ“Û¨Û ïõÁõÈÛä×.  

 (4) ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé ›Ûé”Û¾Û ÈÛµÛä Š¥øÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ©ÛÛé  

  (a) ÈÛÇ©ÛÁõ ÈÛµÛä ¾ÛÇé ™öé.  

  (b) ÈÛÇ©ÛÁõ …Ûé™ä×ö ¾ÛÇé ™öé.  

  (c) ÈÛÇ©ÛÁõ ¾ÛÇ©Ûä× ¶Û¬Ûà. 

  (d) ›Ûé”Û¾Û …¶Ûé ÈÛÇ©ÛÁõ ÈÛ˜˜Ûé ïõÛéˆ ÍÛ×¼Û×µÛ ¶Û¬Ûà.  

 (5) ï×õ¸Û¶Ûà ÜÈÛÊÅÛéÌÛ¨Û¶Ûà ¼ÛÛ¼Û©Û¾ÛÛ× ÍÛÛíé¸Ûó¬Û¾Û ¸ÛÛïõÛ ÍÛÁõÈÛíéýÛÛ¶Ûä× ÉÛÛ ¾ÛÛ¤éø ÜÈÛÊÅÛéÌÛ¨Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  (a) ¾Ûæ¦øà¶ÛÛ ïõÛýÛÙ“Û¾Û Š¸ÛýÛÛé•Û ¾ÛÛ¤éø  

  (b) ÁõÛéïõÛýÛéÅÛà ¾Ûæ¦øà ¸ÛÁõ ÈÛÇ©ÛÁõ ¾ÛÛ¤éø  

  (c) ÉÛéÁõþùà¥ø ïõ¾ÛÛ¨Ûà ¾ÛÛ¤éø  

  (d) Š¸ÛÁõ¶ÛÛ (a), (b) …¶Ûé (c) ¼ÛµÛÛ ›÷ 
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 (6) ¾ÛÛïõÛëÜÈÛ¤Õø¡ö ¾ÛÛé¦éøÅÛ ¶Ûà˜Ûé¶ÛÛ ¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé :  

  (a) ¼Û›ÛÁõ¶Ûä× ›Ûé”Û¾Û –Û¤ø©ÛÛ ›Û¾Ûà¶Û•ÛàÁõà¶Ûä× ¸ÛÜÁõÈÛ©ÛÙ¶Û¶Ûä× ¸Ûó¾ÛÛ¨Û Áõ›æ÷ ïõÁéõ ™öé.  

  (b) ¼Û›ÛÁõ¶ÛÛ ›Ûé”Û¾Û ÍÛÛ¬Ûé …Û ¾ÛÛé¦éøÅÛ¶Ûé ïõÛéˆ ÍÛ×¼Û×µÛ ¶Û¬Ûà.  

  (c) ¼Û›ÛÁõ¶Ûä× ›Ûé”Û¾Û ÈÛµÛ©ÛÛ ›Û¾Ûà¶Û•ÛàÁõà¶Ûä× ¸ÛÜÁõÈÛ©ÛÙ¶Û¶Ûä× ¸Ûó¾ÛÛ¨Û Áõ›æ÷ ïõÁéõ ™öé.  

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü  

 (7) ¸ÛÛé¤ÙøºõÛéÜÅÛýÛÛé ÍÛ×˜ÛÛÅÛ¶Û¶ÛÛé ¾ÛæÇ½Ûæ©Û Š°éùÉÛ ™öé :  

  (a) ïõ¾ÛÛ¨Ûà ÈÛµÛÛÁõÈÛà …¶Ûé ›Ûé”Û¾Û –Û¤øÛ¦øÈÛä×.  

  (b) ïõ¾ÛÛ¨Ûà …Ûé™öà ïõÁõÈÛà …¶Ûé ›Ûé”Û¾Û ÈÛµÛÛÁõÈÛä×.  

  (c) ¾Ûæ¦øà¾ÛÛ× ÈÛµÛÛÁõÛé ïõÁõÈÛÛé.  

  (d) ïõÁõÈÛéÁõÛ¶Ûà ›÷ÈÛÛ¼ÛþùÛÁõà –Û¤øÛ¦øÈÛà.  

____________ 
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Instruction :  All questions carry equal marks. 

 
1. (a) State objectives of Investments. 7 
     OR 
  Explain Non-marketable Financial Assets. 

 (b) Answer any two in brief :  4 
  (1) Explain Investment Process. 
  (2) Explain functions of Share market. 
  (3) Explain difference between Investment and Speculation. 

 (c) Answer in one or two lines : 3 
  (1) Portfolio Management 
  (2) Security Analysis 
  (3) Investment’s Options 
 
2. (a) Explain Random Walk Theory. 7 
     OR 
  State different types of Efficient Market Hypothesis. 

 (b) Answer any two in brief :  4 
  (1) Bond’s Valuation and Return 
  (2) Future Contracts 
  (3) Forward Contracts 

 (c) Answer in one or two lines : 3 
  (1) Hedge Ratio 
  (2) Swaps 
  (3) Industry Analysis 
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3. (a) Explain steps of Portfolio’s Performance Evaluation. 7 

     OR 

  Portfolio’s Risk Diversification 

 (b) Answer any two in brief :  4 

  (1) Single Index Model 

  (2) Markowitz Model 

  (3) Sharpe’s Model 

 (c) Answer in one or two lines : 3 

  (1) Analysis of Portfolio’s risk and return  

  (2) Security market report  

  (3) Portfolio Diversification 

 
4. (a) From the following information calculate Capital Asset Price : 7 

  Risk Free Return (RF) 18% 

  Expected Market Return (RM) 22% 

  Beta (β1)  1.2 

  Also state that if investor assumes Beta (β1) 1.8 than what will be the change in 

expected return ? 

OR 

  Explain Single factor model and Multiple factor model of Arbitrage Pricing Theory. 

 (b) Answer any two in brief :  4 

  (1) Capital Market Line (CML) 

  (2) State limitations of Capital Assets Pricing Model (CAPM). 

  (3) State assumptions of Capital Assets Pricing Model (CAPM). 

 (c) Answer in one or two lines : 3 

  (1) Security Market Line (SML) 

  (2) Arbitrage Pricing Theory 

  (3) Write formula of Capital Assets Pricing Model. 
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5. In the following sub-questions more than one options (answers) are given, select correct 
answer :    14 

 (1) From the following which is not Non-marketable Security ? 

  (a) Bank Deposit 

  (b) Company Deposit 

  (c) Post Office Certificate 

  (d) Government Securities 

 (2) From the following which is Marketable Security ? 

  (a) Bank Deposit (b) Bank Loan 

  (c) Mutual Fund (d) Company Deposit 

 (3) From the following which is not function of SEBI ? 

  (a) To manage and control Stock Market. 

  (b) To buy and sale of securities in Share Market. 

  (c) To develop Stock and Share market in proper direction. 

  (d) To protect Shareholder’s interest. 

 (4) Generally if more risk is taken then 

  (a) We get more returns. 

  (b) We get less returns. 

  (c) We don’t get returns. 

  (d) There is no relation between risk and returns. 

 (5) In company analysis, why, first of all analysis of Balance Sheet is done ? 

  (a) For efficient use of capital  

  (b) For return on capital employed 

  (c) For earning per share 

  (d) All above (a), (b) and (c) 

 (6) Markowitz Model is based on the following : 

  (a) Market risk decreases then it shows standard of security diversification. 

  (b) There is no relation between market risk and this model. 

  (c) Market risk increases then it shows standard of security diversification. 

  (d) None of above 
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 (7) Fundamental objective of Portfolio Management is : 

  (a) To increase earning and to decrease risk. 

  (b) To decrease earning and to increase risk. 

  (c) To increase in Capital. 

  (d) To reduce income tax liabilities. 

____________ 
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